9 Woodlands Avenue 9, Singapore 738964 Tel: (65) 6510 3000 www.rp.edu.sg



# THE REPUBLIC CULTURAL CENTRE RENTAL CHARGES OF FACILITIES

# **THEATRE**

(1,111 seats)

# **PERFORMANCE CHARGES**

Performance charges include air-conditioning, basic Theatre technical package, orchestra pit, dressing rooms, green room and VIP Holding room. Additional charges apply.

1. Off Peak Minimum Rental of \$3,542.50 per

(Mon - Thu, except Public Holiday & Eve of Public Holiday) 4-hour block

(Additional hour: \$888.35)

Peak Surcharge (per day)

(Fri, Sat, Sun, Public Holiday & Eve of Public Holiday)

\$621.30

# **NON-PERFORMANCE CHARGES**

Non-performance charges include air-conditioning, basic Theatre technical package, orchestra pit, dressing rooms and green room. Additional charges apply.

1. Set-up/Rehearsal/Bump-out

Off Peak (Mon - Thu, except Public Holiday & Eve of Public Holiday)

Minimum 4 hours \$1,231.70

Additional hour \$310.65 per hour

Peak (Fri, Sat, Sun, Public Holiday & Eve of Public Holiday)

Minimum 4 hours \$1,417.00

Additional hour \$354.25 per hour

Note: Weekday rates shall apply if set-up/rehearsal takes place on the same day of performance/event.

2. Dark Day rate: \$2,725.00 per day is only applicable for long running events which is typically more than 5 working days.

#### NOTE:

- 1. TRCC will advise the number of crew required, depending on the complexity, scale and requirements of the event.
- 2. There must be a mandatory 1-hour lunch/dinner break, if relevant. No rental and manpower charges will be imposed during the break. During the meal break, the backstage, stage and audience seating area will be locked out for safety reasons.
- A 100% of estimated venue rental, manpower charges and a security deposit of \$750 are payable in order to confirm the booking. Balance, if any, will be refundable after off-setting incidental charges.



# STUDIO (346 seats)

# PERFORMANCE CHARGES

Performance charges include air-conditioning, basic Studio technical package, dressing rooms and green room. Additional charges apply.

1. Off Peak Minimum Rental of \$997.35 per

(Mon - Thu, except Public Holiday & Eve of Public Holiday) 4-hour block

(Additional hour: \$223.45)

Peak Surcharge (per day) \$223.45

(Fri, Sat, Sun, Public Holiday & Eve of Public Holiday)

# **NON-PERFORMANCE CHARGES**

Non-performance charges include air-conditioning, basic Studio technical package, dressing rooms and green room. Additional charges apply.

1. Set-up/Rehearsal/Bump-out

Off Peak (Mon - Thu, except Public Holiday & Eve of Public Holiday)

Minimum 4 hours \$545.00

Additional hour \$185.30 per hour

Peak (Fri, Sat, Sun, Public Holiday & Eve of Public Holiday)

Minimum 4 hours \$686.70

Additional hour \$250.70 per hour

Note: Weekday rates shall apply if set-up/rehearsal takes place on the same day of performance/event.

2. Dark Day rate: \$872.00 per day is only applicable for long running events which is typically more than 5 working days.

#### NOTE:

- 1. TRCC will advise the number of crew required, depending on the complexity, scale and requirements of the event.
- 2. There must be a mandatory 1-hour lunch/dinner break, if relevant. No rental and manpower charges will be imposed during the break. During the meal break, the backstage, stage and audience seating area will be locked out for safety reasons.
- 3. A 100% of estimated venue rental, manpower charges and a security deposit of \$750 are payable in order to confirm the booking. Balance, if any, will be refundable after off-setting incidental charges.



Ancillary Venues (Minimum 4 hours)			
1	Foyer	\$359.70 for 4 hours (Additional hour \$54.50)	
2	Reception Room	\$348.80 for 4 hours (Additional hour \$87.20)	
3	Dance Studio 1	\$599.50 for 4 hours (Additional hour \$152.60)	
4	Dance Studio 2	\$501.40 for 4 hours (Additional hour \$125.35)	
5	Practice Room 1B	\$152.60 for 4 hours (Additional hour \$38.15)	
6	Practice Room 1C	\$305.20 for 4 hours (Additional hour \$76.30)	
7	Practice Room 3A, 3B, 3C	\$283.40 for 4 hours (Additional hour \$70.85)	
8	CREATE Space	\$392.40 for 4 hours (Additional hour \$98.10)	

## NOTE:

- Ancillary venue(s) is only available for hire when booking TRCC Theatre and/or TRCC Studio.
   Ancillary venue(s) does not include manpower, equipment and logistics.



MANPOWER CHARGES (Per hour basis, minimum 4 hours)				
	Monday - Saturday	Sunday and Public Holiday		
Technical Crew	\$21.80 per person / per hour	\$27.25 per person / per hour		

#### NOTE:

- 1. If the technical crew is required to work through their lunch/dinner break, an extra 1 hour manpower and venue rental will be charged to the Hirer.
- 2. The overnight technical crew charges from 12 midnight to 8 am is double the normal charges.

## ADDITIONAL CHARGES

Additional charges e.g. equipment, waste disposal, cleaning and security may be imposed on the Hirer depending on the requirements of the event.

#### Note:

- 1. These rates are applicable for bookings from 1 January 2024.
- 2. All rates are inclusive of Goods & Services Tax (GST).
- 3. The Republic Cultural Centre reserves the right to amend the above rental rates without prior notice.
- 4. Hirer will be charged according to the actual usage of the venue, equipment, manpower and logistics.
- 5. Late payment interest will be levied for payments received after the due date.
- A 100% of estimated venue rental, manpower charges and a security deposit of \$750 are payable for bookings to be confirmed. Balance, if any, will be refundable after off-setting incidental charges.